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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

A veteran newsman, Nash glanced up from his computer screen and glared in her direction. He
seemed to sense this wasn't a social visit. His shoulders rose with a weary sigh. “What now?” he
growled.

“I'm handing in my two-week notice.” If she’d been looking for a response, she would have been
disappointed.

He blinked a couple of times, ran his hand down the side of his day-old beard, and asked, “Any
particular reason?”

“I hoped to prove | can be a darn good reporter, but I'll never get the chance writing anything more
than copy for society weddings. You said when you hired me that you'd give me a shot at reporting
real news.”

“I don’t remember what | said. What's wrong with what you're writing now? You're good.”

“It isn’t what | want to write.”

1) What did the speaker want? Te C h OfWO rI d . I n

A) To write about society weddings
B) To report real news

C) To be an editor

D) To look at the computer

2) What did the speaker submit to Nash?

A) News report
B) Resignation
C) Wedding report
D) Documents

3) Why had the speaker take up the job?
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A) To pay her bills
B) To create sports reports
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4) What had Nash promise the speaker?

A) To pay her more

B) To be an editor

C) To work harder

D) A chance to report real news

5) What did Nash seem to notice? TeCh OfWO rI d i I n

A) That the visit was not social

B) That the speaker wanted to resign
C) The work was important

D) The newspaper was not doing well

6) Fill in the blank with the correct option:

Due to a very good performance, Sanjeev got a good this year however, he is not in the
for promotion.

A) raise, race
B) raze, raise
C) raise, rays
D) race, rays

7) The phrase "Notch something up" means

A) To lose in a game

B) To play for participation and not for the prize
C) To achieve a win or a high score

D) To achieve nothing in life

8) Fill in the blank with correct prefix or suffix:
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His wife prefers market boutiques.

A) in
B) up
C)on
D) sub

9) Which of the following words is correctly spelt?

g) rem?nisent TeCh OfWO rI d a I n
) reminiscent

C) remainiscent

D) remainicent

10) Which of the following alternatives explains the phrase "labour under something"?

A) to be or not to be

B) to do the right thing at the right time
C) to toil hard for the truth

D) to believe something that is not true
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following animals is the symbol of WWF- India (World Wide Fund For Nature India)?

A) Blue Whale
B) Giant Panda
C) Peacock

D) Tiger

11) QARYS g 60 996 0QeIT- Q16O (fcgé UeS QIR @ieum aléi Q go1e 26e' ?

w1 echofworld.In

12) Which of the following event raised tensions between Indian and China over Tibet?

A) China created the Tibet autonomous region, which is an integral part of China

B) When the Panchsheel agreement was signed between India and China in 1954, India
conceded China’s claim over Tibet

C) The Tibetan spiritual leader Dalai Lama accompanied the Chinese Premier Zhou Enlai during
the official Chinese visit to India in 1956

D) In 1959, the Dalai Lama crossed over into the Indian border and sought asylum which was
granted by India

12) 3qRG6 Q0EI AAIQ 6RUE FROQ 69Q MGG I&* S1Q AXIER 96! 9§ *GEMI ?

A) ©IR60Q WrdIde roR 9§ AT, A2 1R A 1@ ATERRY UGt

B) 6d60696@ ¢ (8¥ AARI6A RIS IS G1R AWIER FOIR QP ABEE 62IRAR, 6AEEEIEH FAQ, AAER F1R, @ AITQ ARG ARIQ
Q! |

C) 089 AdRIEa NIRGA AQRIAT 618 ANACA ST ARNIYR 6861 QIR AIAI 1R, JAAQ 681 IGAE ARG AIRIACK |

D) R¢8C AdRieq, FAIR AIAI ARGTA AN AR 62IR AFD 6FRTCA AV NAS AFAG 28R |

13) A formal association between two educational institutions is called -
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A) accreditation
B) certification
C) affiliation

D) partnership

13) 208 A[IQAUR ARIEA IR ARIIFR ANRY QRIAN -

A) Aol
B) gaigie

C) q@ees
D) Qeaisisl

14) The Hunter Commission was constituted primarily to enquire into the implementation of the

A) Hartog Commission T h fW Id I

B) Sadler Commission e C O O r = n
C) Wood's Despatch

D) Wardha Scheme

14) 1216 QIR0 3806 QAR FAA AR JHNIER P6Q IR F0R FAUAIRIYR

A) Q16616 @dae
B) aeaq labin}
C) @ed 6e2ale
D) @& ea1eal

15) The report of the National Commission on Self-employed Women and Women of the Informal
Sector was called

A) Naari Shakti
B) Karma Shakti
C) Yuva Shakti
D) Shram Shakti

15) agr Age aRql ver A6RIISIAR 6890 AReis QUEA QRILIRNGYRI RIV1A AICAITT fsaidq w2l QIAIRds
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many pairs of letters are there in the word 'WONDERLAND' which have the same number
of letters between them as in the alphabetic order?

A) 1
B) 3
C)2
D) 4

16) 'WONDERLAND' ga6a 626013 gae zsa 28E, igl a6 adainl @A6a Qe Teie 280 28 |

vt Techofworld.In

C)2
D) 4

w

17) In a certain code language, if the number 25785 is coded as 34876, then how will the number
35682 be coded in that language?

A) 44773
B) 46693
C) 44583
D) 46683

17) 9@ 789 610 QIBI6Q, AQ 989r8 A°HYIT MY 99 AN 60IQ 6T, 6069 6a2 ANIEA N8I 9 A°FYIT q @08 61 @9
Q92

A) ¥¥99%

B) ¥99¢m

C) ¥¥8ra
D) ¥99rq

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

Isa>0?
l.a*2>0
l.-2<a<2

»1 Techofworld.In

B) 2
C)3
D)4

18) FANYS 9996a6a 636 @0q :
¢. 96 Q94 | anaiia AR caeIq Acaq 26T |

9. 2@ QA4 Il vgdzl anaie AAR 69aIq A6 26T |
7. 98 QQQE | ver 1] anag IR0 FUIFE 6069 NN ARQ 629 Alel AYIg 266 |

¥. 96 @6 | ver || anag IR0 H218e 6060 @ ANAIQ ARR 629! ale adiIg g6< |

a>0ue @7
l.ar9 >0

Il.-9<a<y9

A) ¢
B) ¢
C)
D)¥

19) Kamal kumar is 40 m south-west of Lokesh and Mohan is 40 m south-east of Lokesh. In which
direction is Mohan with respect to Kamal kumar?
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A) East
B) West
C) North-east
D) South-west

19) @AR QAIQ 6RIERER Yo Feq ARG-AFAER IS 6AIR 6RIERIR Yo ATa ARE-gFea 2ege 20T | NeR QARG 6ad Gasa
601120 ARG ?

»* Techofworld.In

adia
C) ea@-g¢
D) *8¢-ada

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the value of 'm' in the equation x*2 + mx + 24 = 0.
I. The equation has real and distinct roots.

Il. One of the roots of the equation is 1.5.

A) 1
B) 2
C)3
D)4

20) FANYL ggeeasa 636 @09 :
2. 96 Q4 | anQiia AR saeig Acae 26T |

9. 96 QR4 Il ¥gdal anaa AR 6aalq Asae 26T |

7. 2@ QA4 | 9o || a00g IR0 GRS 6060 ANAIQ ARNA 62! Al ATYIG 266 |
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¥. 9@ Q94 | ve* || anaq 9RO F2Ide 6060 @ ANAQ AR 62! Qe AN 62 |

XA + mX 4+ 9% = 0 aneadsa 'm' @ FlIe 6R6Q 2

l. acneasa gqe 9e° JaR 90 2 |

. aceaae g auyq 601G 6208 ©.8 |

2. Techofworld.In

c)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which amongst the following is a pillar of education as per Delors Report?

A) Learning to inquire

B) Learning to dialogue

C) Learning to critique

D) Learning to live together

21) send Q6aIF 2QAIN FIRYE MRIQ 6WE 6208 dAIQ 97 ?

A) Aa0Q! dgel

B) T@Ia S¢Sl

C) QAieaion! 209! Sge|
D) QI0 Q@QIg dgQl

22) The mental image and ideas within a person which he desires to convey and communicate is
referred to as

A) information

B) data TeChOfWO rld E I n

C) message
D) techniques

22) 966 43 AI6Q JQI NIdR gE8R Ie° IR AIRIQ 64 FEIRRIG I 6AINIEAIT KRR BRI F03, CIRIQ 6QIR
QRIAN |

A) 909l

B) @&

C) qll

D) sala@

23) Which of the following is an example of formal agency of education?

A) Family
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B) School
C) Theater
D) Library

23) GORYE AUQ 6006 JRIR 9@ GASIRe A°Ql ?

vee Techofworld.In

C) g
D) quasga

24) The aim of education during the period 1921 and 1937 was to

A) address the disillusionment with the Western model of education

B) propagate that the educational system should attempt to train only behaviour

C) focus on quality in education and spread of mass literacy among the people

D) discourage private enterprises from spreading western education among the people

24) e ¢ 9e 9e° e (MY ARIER FRIR AV R

A) aaiey dsia Acen a8e Haidig aAIe RS

B) 2l gae 9QQ! 6a da 1o 6eee 2 1906 OIRA 62QIQ 608 AR AQAR

C) aal 6RQ6Q Q6 NG CRIRAIRE IR AT ¥R RACQ IR 6QQ

D) seaeqiat QEITYFR CAIRAIRE ACAR AINIGY ATl F2IQ @ERIQ I0E KR!

25) The distinguishing feature of which of the following test is to assess how much or how well people
can perform at their best?

A) Criterion Performance test

B) Maximum performance test

C) Norm performance test

D) Typical performance test
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25) G0Rge AuQ 69 ARINETR QU 6399y 6208 Q! URRR FAR| 6 CAIRAIEH ARQ AQ0IQ ATR Q60 ANl 6060 QARY gde
RAAGER ?

A) AIRe8 QieEe! aaisl

B) Q€@ @Idiase! aeial

C) QriIeE QIdieael aeal

D) @4 qidiascl aeial

26) Dewey's description of education is

A) Education of like children is like filling an empty pot.
B) Education is to write on the empty slate of a child's mind.

C) Education should develop the mind through experience.
D) Education is the filling of a vessel.

R —— Teachofworld.In
A) GRiaIeG AR G819 HR 218 QG ad )
B) 941 6208 890 ARQ IR ASIER QYR

C) u0®6! ARIAER 88l AR FRI4 @9l AR
D) 8%l 6208 9@ Qg 434!

27) Which method of teaching encourages the students to view a concept not just in its entirety but
also the elements that make up that concept, while emphasizing on the fact that the whole concept

is greater than its elements?
A) Skinner conditioned view
B) Pavlov operant view

C) Gestalt holistic view

D) Bruners Discovery

27) 3912190 694 980 SIRAIRG IR TREQ 629R A%d Q6 Q6L Q6r 6AR ARG FOR RQYYL VARINYFF 62YLI Al QAR RN,
69606967 @ QMG QA YRR QAIVIROIQ VP 6IRLIN ?

A) Gaq edae

w

aleqe asael QY

O

)

)

) saaiq ange
D) 274 aiRaia
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28) Hina gets very upset when she gets negative feedback on her assignments. Which of the
following actions by her teacher will help her accept feedback?

A) The teacher stops giving negative feedback to Hina and she calls her parents and asks them
to talk to her.

B) The teacher gives negative feedback to Hina only in private, she never says anything in class.
C) The teacher gives simpler assignments to Hina and gives her lots of positive feedback.

D) The teacher shows a film on how sports persons learn from feedback and then has
discussions.

28) 271 oIe QIY QAEQ RRIAIAR ACIAE 62Q 9260 QY 223 | daes QIR FAULIAYQ! AgAge cod QIS oIg AGIAe goa
RAQI6Q A FQS ?

A) 9@ 201G RRINIAR AL 6291 @R AAGYUB Y6 64 PIF TOIAIGIE CIRS 96 OIF A2 @2l 6271 928
B) %8R 629% 1390 NIFER FRIG AAAAR AGIAG TS, 6 69416Q 6267 B8 @R QIR

C) 99 29I Q0% Iy FuUS 9 QI UCKR AAAUNR A1GIAE FUT

D)

QIeREMIER A0INeY ad §48 6a S906a U6 9@ FR59 6QTIB e or'asa 64 STUER ZIRIER! @ad

29) To get any school information a U-DISE code is used in India. What does U-DISE stand for?

A) Unified District Information on School Economy

B) Unified District Innovative School for Education Te C h OfWO rI d é I n

)
)
C) Unified District Information System for Education
D) Union of District Important Society of Education

29) RIRG6R 6A6@IEA M ORI ARSI AR I9° Y-G2URIAR (U-DISE) 621¢ Q4920 @quaiN| G-S2aaR
(U-DISE) @@6m @'¢ QEIN?

A) gRIINQ B8R ARTEAA] 2R} YN ACRIERA

B) gdaag 08Q a6R16008 Y IR 996aAQ

C) gRraNe 68 Aeaedar g 09 1g6RaR
D) gReiq 2 G4 AssSIe 6QIAIRG 2T 996adR

30) Which of the following statements show the correct relationship between Teaching and Learning?

A) Learning needs a formal setup while Teaching can happen either formally or informally
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B) Teaching needs a formal setup while Learning can happen either formally or informally
C) Both Teaching and Learning needs a formal set up always
D) Both Teaching and Learning needs an informal set up always

30) A9Rge OIGRR AUQ 62AT ANIRIR Ie° Tl AIER A0R AN QdIa

A) seave QAR Mgl ANS 29aeIcese daiele BARIRR dal 26FIAHe AR 62RACR

B) asieie 9@ 2199180 iegl 2Ieaie @aaeisess 48 BACIRR &9l 263I0ade QI96R 6R1RTIER

C) oea dsieir e da adal e AASIAR eueg zIRaIe 060 T h I d I
D) 990 8IQIe e 48l 4G4l 96 ACFIATR QO AR Q68 e C O I V V O r . n
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) '0QQe €0 28 9'4°?

A) Qe Q6er AR
B) gige asa aqie
C) aid qser Qe

D) 20g°8 Q6ar QA

32) aQieIe 2096 Y9 S960 629 QR MNLLAR *AIAIRT ?

ve=Techofworld.In

C) ‘2u
D) ‘@’ aig

33) 699 9 99 9IRI QIR ANITR oRI F6R V1Y V'€ QRIAN ?

A) aaide
B) aiaqidql
C) wee

D) edldi@

34) ‘age’ 400 SUQAICIdEaINS 4@ QI |

A) 2isaie
B) 2RIEQIR
C) °8e
D)

35) Q@86 98 J00Q (@ QUIQIRT @'€1?

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

A) g
B) goua
C) Qa9
D) ae

36) 2RI QY ‘UARA’ FRTA A Ac6a & At AFa?

A) 28l @e9e
B) 21¢l a°6qien
C) 218l a°gaIag
D) 2iiiced

37) g626+a@ = ‘gI60da’ a968 RO ‘AR’ Youa 6a¢ adieq Qe ?

A) Qe 2deq

s | €CHOTWOrld.IN

C) ane adea
D) @@ zésa

38) ‘@0l @i06a 9§’ QFa 28 F9aa ea |

A) a6 agel

B) Q%6 Q@ql

C) AIaigq g

D) GaeQ 624 adel

39) ‘Qigar’ 2dq QI8 QAR 9F Fa0d ea |

A) daleal

B) @2l 0Iea
C) @4 eaicaal
D) e2iéIe
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40) G6QIB AUQ 62 FRFTER F6ANY A F6ATE AQQEA YRS 621RT ?

A) gel 21
B) e @2
C) 25 og@
D) @128 QI8

41) ‘a4’ 60Q Q6AIRIAG 60 QIR |

A) 89
B) @16
C) @iy
D) @

42) 0RG6Q 69 AR 89 F0Q ARG 2GR F6QT 6TIRAN?

A) Geaaiq S68a@ TeC h OfWO rl d ’ I n

B) Qsa96Q Q6894
C) a6 govages!
D) wqieq° auIQ 6296 & 9L

43) aQavidea feaay 89Q ‘P’ geage aedq QI8 |

A) seiizel
B) Quidzl
C) caiRal
D) qaieal

44) 2Qd e FRR A8 — 906 @ ZRIQ F68TE Y6 FAUAIRE ?
A) 9e8QIeR

B) @aie

C) 2QaIe10@
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D) adqigeion

45) ‘aa1a’ 990 Q6P IR QIS |

v Techofworld.In

C) o@ adol Gesa
D) 6RIRR
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) A number x is 3 times of the other number y. If the sum of both the numbers is 40, then that is
the value of x?

A) 10

B) 20

C) 30

D) 40

46) 6015 @yl T ARY 9@ LY S Q N & US| AT VD TIIQ 6AINTR Fo P4, 6669 T A FIIR 6260 ?

A) 10
B) 20
C) 30
D) 40

47) What is the area of the rhombus whose perimeter is 40 cm and the length of one of the diagonals
is 16 cm?

»1msen 1 €CHOTWOTId.IN

B) 92 sq.cm
C) 96 sq.cm
D) 160 sq.cm

47) ¥o 627 a8QIAl 9e° 9 627 Q4 899 IR 6QINA Q CAGTR 6RO 6292 ?

A) 192 ad ead
B) 92 od 6ad
C) 96 ad 6ad
D) 160 <6 sad

48) If the sum of two numbers is 25 and their HCF and LCM are 5 and 30 respectively, then the
square of the bigger number is
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Set Id : 62419 33 BATCH1 _D.ELEd. Odia_11NOV2020

A) 196
B) 225
C) 256
D) 400

48) 9d a6 rae and 25 g4 e 6AIRETR Qg e RAIg Q2aIgen 5 e 30 94, 666 QR0 THIQ A6 6208

A) 196
B) 225
C) 256
D) 400

49) The selling price of 3 toys is equal to the cost price of 4 toys. What is the percentage of profit
gained?

w1 echofworld.In

B) 25.00%
C) 20.00%
D) 16.66%

49) 3¢ 632q1a A& N 47 66RRIA QA A4 A6 AAIR | 6069 6R6E FORE! AN 6RART ?

A) 33.33%
B) 25.00%
C) 20.00%
D) 16.66%

50) The system of linear equations x + y = 6 and 2x + 2y = 10 has

A) Unique solution

B) No solution

C) Three solutions

D) Infinitely many solutions

50) x +y =69 2x + 2y = 10 @ 604166 ANRRAYERQ AQ 121 02T

A) BR%Y QAR
B) 6@6Q aqiuie @&
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Set Id : 62419 33 BATCH1 D.EI.Ed. Odia_11NOV2020

C) G615 aqie
D) 2Qif 268@ AR

51) ABCD is a cyclic quadilateral inscribed in a circle with center O. AC is the diameter of the circle.
What is the measure of the angle ZABC?

A) 100°
B) 90°
C) 80°
D) 75°

51) ABCD 6208 1@ 061 9@4e aiel O 6ag el @6 2976 c21ed | AC c2af Q@ vl eale ZABC a adaia 6e6o

" Techofworld.In

A) 100°
B) 90°
C) 80°
D) 75°

52) Which is the third least number, which leaves a remainder 8 when divided by 9 and leaves a
remainder 5 when divided by 6?

A) 17
B) 27
C) 53
D) 71

52) 6296 6208 9010 A9F¢ o, A12Id 9 QA 309 *AIEAER NG 8 as2 1 6 QIal 3RS *RICIER NGEET 5 a6R ?

A) 17
B) 27
C)53
D) 71

53) A retailer bought a used T.V for ¥ 2,500,spent ¥ 800 on repairs and sold it at a gain of 10%.The
selling price of the T.V is

A) % 3,630

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62419 33 BATCH1 D.ElL.Ed. Odia_11NOV2020

B) % 3,720
C) % 3,840
D) 3,960

53) esa gea @4eain T 2500 ca 60184 6.6 @dasa, aaind aie T 800 ¢ adgen v weig 10% qiesa 88 *dasn | .69
ARA N 6208

A) % 3,630
B) % 3,720
C) % 3,840
D) % 3,960

54) Ratio of the ages of Sam and Alex is 4:5. Which among these options could be the ratio of their
ages after 20 years?

gﬁTechoﬁNoﬂdJn

C)3:5
D)1:2

54) aiq we° 26Res 2098 2QaI0 628 4: 51 1@ 39898 uQ 6246 20 9d 06Q 6QAINS VAR ALAIS 62IQANEA ?

A) 5:6
B) 3:4
C)3:5
D) 1:2

55) Which of the following set is an example of empty set?

A) Set of even prime integers

B) Set of whole numbers which are not natural numbers
C) Set of integers which is neither positive nor negative
D) Set of postive prime integers less than 2

55) 39R4e 636 MRIQ 624G §RY 636 Q ALQE 26T ?

A) gql sdide 9¢ eaia sae

B) Q¢ @augsea sac el gigse e g6
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C) gd @ana 6ac Aol URIAR g6¢ da AEIR g6¢
D)2 Q @Age RN 67IRR 9d PWIQ 626

56) Which is the least number that should be subtracted from 1,000, so that the resultant number
will be a perfect square?

A) 31
B) 33
C) 37
D) 39

56) qéﬁi ee@ el 1,000 @ F6019 @AIARAIRR, AIRATFER A8l Pall 9@ 94 9 629 7

echofworld.In

A) 31
B) 33
C) 37
D) 39

57) 4 unit circles are drawn inside a cirlce such that each unit circle touches the other two

neighbouring unit circles and also touches the boundary of the major cirlce. What is the area of the
maijor cirlce?

A) (4+22)1r sq.units
B) (3+2V2)m sq.units
C) (6+42)1 sq.units
D) (4+2+3)1 sq.units

57) ¥ & QR 66159 9@ QB FRIER YAG NAULER 2rRG 6210 64 F604R QR A% AIgEa 3l AN QaF QR @ A4 A9 A2 9@ RRQ AIAIQ
I Q4 REQ | 9C YRR 6VYTR 6R6E 629 ?

A) (4+2N2)1 ad gde
B) (3+2V2)m ad gae
C) (6+4V2)T ad gae
D) (4+2V3)1 ad gde
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58) The number of chocolates with Smitha and Geeta are in the ratio 3: 4. If Neeta gives 10

chocolates to both, then the ratio of the chocolates with them will become 5:6. How many chocolates
did Smitha has?

)15
)18
) 21
) 24

oo0w>»

58) gol v aoiw aigen oealens 3: 4 2gIesa 221 9@ @101 299g 10 § 06RIcRs 323, 6069 6AAIRT AIER 2 S6RIERSR
296 5: 6 6210 | 6062 JOIF AIUER 6RES CERIEAS YR ?

sT'echofworld.In

59) If B and C are equal sets then which of the following will be true always?

A)(AUB)#(AUC),(ANB)#(ANC)
B)(AUB)=(AUC),(ANB)#(ANC)
C)(AUB)#(AUC),(ANB)=(ANC)
D)(AUB)=(AUC),(ANB)=(ANC)

59) 0@ B ve C aq1@ 626 6060 RAYE MIQ Q96 A9 Q04 629 ?

A)(AUB)#(AUC), (ANB)#(ANC)
B)(AUB)=(AUC),(ANB)#(ANC)
C)(AUB)#(AUC),(ANB)=(ANC)
D)(AUB)=(AUC),(ANB)=(ANC)

60) Square 'A' has an area of 100 sq.units. Area of another square 'B' is 69% more than that of
square 'A'. By what percentage, the side length of square 'B' is more than that of the side length of

square 'A'?
A) 50
B) 30
C)20
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D) 10

60) adesg 'A'a sgeae 100 adgde | 2ey ¥@ @deaee 680ae 'B' ad ' A ' gerisa 69% zue 0281 adeag 'B' @ aig aa
deng 'A' @ Al a9 01Q 6260 9640 AR ?

»* Techofworld.In

C) 20
D) 10

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Section 7 - Paperll-Social Science

No. of Questions: 15

61) The coldest of all biomes that has low temperature and low rainfall is

A) Tundra

B) Savanna

C) Northern Coniferous Forest
D) Tropical Rainforest

61) ae e1aAIQl 9&* @7 QEAIE &R AQOIQ 109 6FREAQ 6208

e Techofworld.In

C) 0a0a age o
D) @eas1eaia edie

62) Read the following statements and choose the CORRECT option.

(i) The mesosphere layer of Earth's atmosphere starts just above the stratosphere and extends to
85 kilometers (53 miles) high.

(if) Aurora and satellites usually occur in this mesosphere layer.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (i) is FALSE

62) G618 YRR 99 9e° OR I98 AR *ag!
(i) 921Q QIYAERQ 6716ARTAR IQ FIESIAIRTA OIQ QA 62IR 85 FEAIFSR (53 AIRR) QL6Q 996 |

(il) 26QIa1 9e° QUYL ARIQEIFS I 6716QAATAR BA6Q AT |

A) (i) QoY 266 9Q° (i) ABY 266
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B) (i) ey 2166 9e° (i) &A%Y 269
C) (i) 2aey 26e 9a° (i) ASY 26T
D) (i) 2%y 266 9e° (i) 2QAeY 26T

63) Which Article empowers the President to appoint the PM of India?

A) Art 74
B) Art 75
C) Art 76
D) Art 77

63) 6adl 2Q9e1 QIGATT RIGER GUIRARI HYS FERIQ BAGI IR R6Q ?

v=es T @chofworld.In

B) 279¢1 98
C) 299199
D) 29991 99

64) The Kalibangan site of the Indus Valley Civilization is situated on the banks of which river?

A) Brahmaputra River
B) Narmada River

C) Ghaggar-Hakra River
D) Tapti River

64) A9 QAR ANIBIA FIRARIR VIR 69Q 41 GREQ ARG 26T ?

A) 99906 861
B) @¢IGl 9Q1

C) W9p-%Iql @'C1
D) 1§ /a1

65) Which year was declared as the second International year of the Reefs?

A) 2006
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B) 2007
C) 2008
D) 2018
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65) cad ed @ Aga G619 2aFIG1A d RIFEA 6AITE QISR ?

A) 9009
B) 9009
C) 9oofl
D) 9oer

66) The thickest layer in the atmosphere of Earth is

ysmosere | €CHOTWOTId. IN

B) lonosphere
C) Troposphere
D) Thermosphere

66) JAUQ QYILRA 6¢11F1 IQ 6208

A) 81601399
B) 2i06a@aa
C) g6aidaQ
D) aieidaQ

67) Dr Ambedkar referred which Fundamental Right as the heart and soul of our Constitution?

A) Right to Freedom of speech and expression
B) Right against exploitation

C) Right to Equality

D) Right to Constitutional Remedies

67) PR UCALRA 64 671 2YRIOQ AN QAU 209 96 IF) 69IR AEQH @83 ?

A) 9994 G 2RRIQ ARG LYRIS
B) 661961 TEARIER 2RI
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C) AAIRG! AR

D) ARUGFR YORQ ANRIQ

68) Equal pay for equal work is a

that guarantees equality before law.
A
B
C
D

Fundamental Rights
Fundamental Duties
Directive Principles Of State Policy
Statuary provisions in Labour Law

68) anIe QIf CIe AAIR A 6208 Y@ I0TAAAAAAT IR AR AGER ANRGIQ IRAE @64 |

A) 6¢1Ra 2N

B) 61a@ @aQy

C) s Q16 Gedaqial
D) 99 ziarea Qo @yeg

69) The imaginary line of latitude on the Earth that divides India into almost two equal parts is

premescanen T @ChoOfworld. In
)
)

C) Tropic of Cancer
D) Arctic Circle

69) gae1ea 2Araa R8I 694 ARl NGEY JIA QRE AR NER TS F6R OIRl 6208

70) Who issued an inquiry into the massacre of Jallianwala Bagh by British Govt.?

A) Lord Irwin

B) General Dyer

C) Hunter Commission
D) Simon Commission
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70) 364 20RIeS Q6 FIRURGN A6 2CUNIG FEAEQ T4 623 ZIGA AIRTER ?

A) Q¢ Qage
B) 69670IR Q109
C) @¢a afee

D) aigng @feq

71) Who among the following was one of the nine jewels of the emperor Akbar's court, and greatly
contributed in fixing the land revenue system?

A) Udai Singh
B) Raja Todarmal

C) Chandra Sen
D) Faizi

71) SARYS AUQ A9 AYIS AR ERITA FAT ARFIQ AUY F6E Y6 I9° 8 AR MY PIFACR I

== Techofworld.In

B) Qigl 6eieaam
C) og 6QQ
D) 6a@

72) In which of the following years was the theme for Earth Day, "End Plastic Pollution"?

A) 2016
B) 2017
C)2018
D) 2019

72) d6qIe @dgee AUQ 6adeea 9 @94 aI g gal, “ e Qa8 aaR” ?

A) 9089
B) 90¢9

C) 9o¢r
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D) 9oe¢

73) The Commission that suggested that the Governor of a state should be a politically detached,
eminent person from outside the state?
A) Rajamannar Commission 1969

B) First Administrative Reform Commission 1966
C) Sarkaria Commission 1983

D) National Commission to review the working of the Constitution 2000

73) 966 ANAING AN QIR ANCFER QF6RIGQ ARG, ARR1E S 6291 LR 62IR 62W ACAIT VNS 62083 ?

A) QLRI @A8R e ¢9¢
B) 92¢ 98Ia%Q U AICAIS @ ¢ 99
C) aedal afiee eera

D) QIee QIS A8 *GQIQ FIG1A AIEAIS 9000

74) If it is 12 noon at GMT, what will be the time of Thimphu (Bhutan) located at 90 degree east
longitude?

»ewan 1 €CHOfworld.In

B) 6.00 PM
C) 5.00 AM
D) 5.00 PM

74) 98 849nGeq I © 9 ¢ 62IQAN, ¢o B¢l g8 QANIEa 29Fe & (YLIR) 60 ANA 6Q6E 629 ?

A) .00 AM (2RlIe 951)
B) 9.00 PM (zaeig o¢1)
C) 8.00 AM (aQIe 8s1)

D) 8.00 PM (2aaig 861)

75) Who handed over the charge of INA to Netaji Subhash Chandra Bose?

A) Mohan Singh
B) Rash Behari Bose
C) Mahendra Pratap
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D) Hari Dayal

75) @4 620191 gRIE 6L 6T ARNIANR AUTQ 2218 RAT6R ?

ve=e Techofworld.In

C) 9629 geIa
D) 28 eain
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following catalyst is used in the conversion of SOz to SOs in the contact
process?

A) MnO2

B) ZnO2

C) V20s

D) Cr203

76) ase g3ai6a SO2 @ SO3 @ uIeeasa FAYE ALRAER AUQ QAT ML 47?
swe. [echofworld.In

B) Z

C) V205

D) Cr203

77) What will be the percentage of unoccupied space in a unit cell forming a body centered cubic
lattice?

A) 68%

B) 74%

C) 26%

D) 32%

77) 92 9910 6280 Q4R ACIRA F09 FQIYR! IR GRS 6RIN6Q AATLATO YRR 90RG! 6R60 62 ?

78) The Kilowatt-hour is the unit of

A) time
B) power

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190
C) energy

D) force

78) @6QIGIS-A4I RILIQ AQAAR

A) ang
B) aiqiely
C)ad
D) q@

79) Antibiotics are the most effective on

A sacir Techofworld.In

C) Viruses
D) Protozoans

79) 2réQicaIte 1a86a AQOIQ AR JAREIR!

A) Quieq@al
B) gean

C) aiaaq
D) 64I16616R1Q

80) The mode of cross-pollination in Zostera marina is

A) Anemophily
B) Ornithophily
C) Entomophily
D) Hypohydrophily

80) sai1686I AIGRIER RA-AREEQA 6AIQ 6208

A) 092170I
B) aReaida

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World
C) weeieaida
D) 2186Q12106gI3A

Whatsapp/Call- 8596976190

81) Which of the following are the reactions taking place at the two electrodes when CuSOs is
electrolysed using Cu electrodes?

A) Atthe anode Cu?* is reduced and at the cathode Cu is oxidised

B) Atthe anode Cu is oxidised and at the cathode Cu?* is reduced

C) Atthe anode O: is liberated from water and at the cathode Cu?* is reduced
D) Atthe cathode Cu?* is reduced and at the cathode O: is liberated from water

81) Cu asa6qie @ie2ie @8 CuSO4 a6acRIas 621Q2RI6R60 208 AER6YIE 6 FRAYE AuQ 6ad go&al adara ?

A) zisaie Cu?* 6a 21a 29 9 Qus2ie 60 CU 60 230108 249
B) zisnie 6 Cu @ 23eias ealan 1 qusale 6o Cu?*efiand
C) zisaie 6a O2 60 999 99 29 9e* Qusale 60 Cu?* ca efiard

D) «uisaie 6a Cu?* gia 949 1o quicaie 6o O2 60 999 99 249

82) What is the effect of temperature on viscosity of liquids?

A) Increases with temperature Te C h OfWO rI d u I n

B) No effect of temperature

C) Initially decreases then increases with temperature
D) Decreases with temperature

82) cana AIR6! 206Q QIAAIGIR RIS @€ 6NN ?

A) ©1a91gl @6 QF 9

B) ¢laAIgia 6716Q gale QIR

C) 919a6a 214 249 SIA6R GIAAIG) A6 Q& 29
D) e1adigl Qade QI 99

83) The S| unit of force is

A) Coulomb
B) Kilogram
C) Ampere

Page360f40
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D) Newton

83) QRQ 9aq 6298

A) gaq
B) Qemugiel
C) wfioq
D) faeq

84) The Phosphatase test is used in the analysis of

A) water
B) milk
C) tea

D) copper

84) wia G6ga66Q TATICER TAIBI 6Q RO 29

nyse Techofworld.In

B) @@
C) ael
D) e

85) The tiny hair like movable protoplasmic projections outside the surface of the cell is

A) stroma

B) grana

C) dictyosomes
D) cilia

85) 6a180 ge6a 0Ra4IR 69I66IGINITR 69I690AR 08 J2 60gee 6208

A) ssil

B) gis!

C) @6qiesIq
D) daan
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86) Read the following statements regarding thorns and choose the CORRECT option:

A) It helps the plant to climb up and coil around any object
B) It protects the plants from grazing animals

C) It helps in providing mechanical support

D) It helps in storage of food

86) &e1 anata AqAge 9Idl 4OQ aeq ve a0Q §Q ieq :

A) @l @0QQ 64 6@16T @gQ RUAY PP I 9 LIRS QAR ARIAY FEQ
B) @l 20Qgeq 9g 9aQl 0IQ 8l *K2INM

C) 2l QIAe ARIAG! 6QIGIRNIER ARIAY R6Q

D) 2I 4194 TRAEER ARIAY K6Q

87) What will be the empirical formula of a crystalline compound constituting of atoms Y forming ccp
structure and Z which occupies a forth of the octahedral voids?

A) ZY2

sz | €Chofworld.In

C)2ZYs
D) YZ4

87) aenig @ 9o @qael CCP @raeql ver Z @ uid 6210891 9@ 35 63iI5ea aqiaiee 98 @6 62 QIRI AQYCLQIN ISR 1@
QSR QRN ?

A) ZY2
B) ZY3
C)ZYa
D) YZ4

88) A rifle fires a bullet of mass 25 g with a velocity 1600 m/s. The man holding it can exert a
maximum force of 160 N on the gun. How many bullets can he fire per second at the most?

A) 2

B) 3

C)4

D)5
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88) 9@ @9 25 g 6Rea 9@ g@q 1600 m/s AG6Qa6a JOIM | 121§ QYR 43 Q9@ @a6a 160 N @
AP AR Y6AIT FRAIRER | 6A6RE GF 6R60IT R IO AIRARLR ?

A) 2

B) 3

C)4

D)5

89) Carbon Dioxide produced in our body are mostly transported as

A) Bicarbonate TeChOfWO rld a I n

B) Carbide
C) Amylase
D) Carbon

89) 2in ae166a UFE ARIF, Y08 AAAAT AUNER TARR 62NN |

A) 9IaRI6316RE
B) @diae
C) aifieqa

D) aida

90) Which of the following is a function of Plastid?

A) Oxidative phosphorylation
B) Photosynthesis

C) Autolysis

D) Intracellular digestion

90) @9fge g 6246 Qiea Iy ?

A) UF6LTR TACTNEAAR
B) zsaIe reqad

C) zseinada

D) 6918 AI6Q 284
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Answer Key ‘
TechoﬁNoHdIn
1| B 31| A 61 | A
2|B 32|B 62| B
3 |G 33|1A 63 | A
4|D 34|C 64 | C
51A 351A 65|C
6|A 36| A 66 | D
7€ 37| C 67 | D
8|B 381 A 68 | A
9B 39| A 69| C
10| D 40 | A 70| C
11|B 41 | A 71 | B
12| D 42 | B 72| €
13 | € 43 | A 13 | €
14| C 44| D 74 | B
15|D 45| C 75| B
16 | D 46 | C 76 | C
17 | A 47 | C 77| D
18| D 48 | B 78 | C
19| A 49 | A 79| A
20 B 50| B 80 | D
21| D 51|B 81| B
22|C 2 |€ 82 |D
23 |B 53| A 83 |D
24 | C 54 | A 84 | B
25|B 3D 8 |D
26 | C 56| D 86 B
27 | € 57| B 87|C
28 |D 58| A 88 | C
29 |C 59| D 89 | A
30| B 60 | B 9 | B
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